
www.drnickinewton.com

0 DIVIDED BY A NUMBER QUIZ

Match the expressions 
and the quotient.

Make the equations true.
____ ÷ 3 = 0
____ = 0 ÷ 1
0 ÷ 2 = ____
0 ÷ 6 = ____

If you put 0 cookies on 4 
plates, how many cookies 
would you have on each 
plate?

Model:

Answer:

Model with an array
0 ÷ 1

Model with an equal group
0 ÷ 9

__ ÷ 10 = 0
0 ÷ 4 = __
__ ÷ 2 = 0
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DIVIDING BY 1 QUIZ
Match the expressions 
and the quotient.

Make the equations true.

____ ÷ 1 = 4
____ = 1 ÷ 1
6 ÷ 1 = ____
2 ÷ 1 = ____

The bakery had 5 cookies. 
They put 1 in a box. How 
many boxes did they use?

Model:

Answer:

Model with an array
2 ÷ 1

Model with an equal group
9 ÷ 1

2
10
8
3

10 ÷ 1
3 ÷ 1 
8 ÷ 1 
7 ÷ 1 
2 ÷ 1 7
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DIVIDING BY 2 QUIZ
Match the expressions 
and the quotient.

The bakery had 6 cookies. 
They put 2 in a box. How 
many boxes did they use?

Make the equations true.

____ ÷ 2 = 4
____ = 20 ÷ 2
0 ÷ 2 = ____
2 ÷ 2 = ____

Model:

Answer:

Model with an array

Model with an equal group

2 ÷ 2

14 ÷ 2
6 ÷ 2 2
10 ÷ 2 10
16 ÷ 2 8
20 ÷ 2 3
4 ÷ 2 5
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DIVIDING BY 3 QUIZ
Match the expressions 
and the quotient.

The store had 18 candies. 
They put 3 in each bags. How 
many bags did they use?

Make the equations true.

____ ÷ 3 = 5
____ = 12 ÷ 3
0 ÷ 3 = ____
3 ÷ 3 = ____

Model:

Answer:

Model with an array

Model with an equal group

9 ÷ 3

30 ÷ 3
7
9
6
8

24 ÷ 3 
18 ÷ 3 
27 ÷ 3 
6 ÷ 3 
21 ÷ 3 2
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DIVIDING BY 4 QUIZ
Match the expressions 
and the quotient.

The store had 20 chocolate 
cookies. They put 4 in each 
box. How many boxes did 
they use?

Make the equations true.

____ ÷ 4 = 5
____ = 12 ÷ 4
0 ÷ 4 = ____
4 ÷ 4 = ____

Model:

Answer:

Model with an array

Model with an equal group

40 ÷ 4

8 ÷ 4
24 ÷ 4 6
4 ÷ 4 3
32 ÷ 4 7
12 ÷ 4 8
28 ÷ 4 1
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DIVIDING BY 5 QUIZ
Match the expressions 
and the quotient.

Make the equations true.

____ ÷ 5 = 8
____ = 20 ÷ 5
0 ÷ 5 = ____
5 ÷ 5 = ____

The bakery had 35 vanilla 
cookies. They put 5 in a box. 
How many boxes did they 
use?

Model:

Answer:

Model with an array

Model with an equal group

30 ÷ 5

15 ÷ 5
40 ÷ 5 8
5 ÷ 5 2
25 ÷ 5 10
10 ÷ 5 5
50 ÷ 5 1
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DIVIDING BY 6 QUIZ
Match the expressions 
and the quotient.

The store had 42 candies. 
They put 6 in each bags. How 
many bags did they use?

Make the equations true.

____ ÷ 6 = 2
____ = 24 ÷ 6
0 ÷ 6 = ____
6 ÷ 6 = ____

Model:

Answer:

Model with an array

Model with an equal group

12 ÷ 6

54 ÷ 6
24 ÷ 6 3
18 ÷ 6 4
48 ÷ 6 10
6 ÷ 6 8
60 ÷ 6 1
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DIVIDING BY 7 QUIZ
Match the expressions 
and the quotient.

The store had 28 cupcakes. 
They put 7 in each box. How 
many boxes did they use?

Make the equations true.

____ ÷ 7 = 7
____ = 21 ÷ 7
0 ÷ 7 = ____
7 ÷ 7 = ____

Model:

Answer:

Model with an array

Model with an equal group

49 ÷ 7

35 ÷ 7
14 ÷ 7 6
63 ÷ 7 3
42 ÷ 7 9
21 ÷ 7 10
70 ÷ 7 2
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DIVIDING BY 8 QUIZ
Match the expressions 
and the quotient.

The bakery had 56 cookies. 
They put 8 in a box. How 
many boxes did they use?

Make the equations true.

____ ÷ 8 = 6
____ = 24 ÷ 8
0 ÷ 8 = ____
8 ÷ 8 = ____

Model:

Answer:

Model with an array

Model with an equal group

32 ÷ 8

48 ÷ 8 
8
2
10
5

8 ÷ 8 
80 ÷ 8 
16 ÷ 8 
64 ÷ 8 
40 ÷  8 1
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DIVIDING BY 9 QUIZ
Match the expressions 
and the quotient.

The store had 54 candies. 
They put 9 in each bags. How 
many bags did they use?

Make the equations true.

____ ÷ 9 = 8
____ = 9 ÷ 9
0 ÷ 9 = ____
9 ÷ 9 = ____

Model:

Answer:

Model with an array

Model with an equal group

45 ÷ 9

18 ÷ 9
36 ÷ 9 3
27 ÷ 9 4
72 ÷ 9 10
9 ÷ 9 8
90 ÷ 9 1
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DIVIDING BY 10 QUIZ
Match the expressions 
and the quotient.

Make the equations true.

____ ÷ 3 = 10
____ = 80 ÷ 10
0 ÷ 10 = ____
10 ÷ 10 = ____

The store had 50 cupcakes. 
They put 10 in a box. How 
many boxes did they use?

Model:

Answer:

Model with an array

Model with an equal group

40 ÷ 10

90 ÷ 10
20 ÷ 10 10
70 ÷ 10 2
30 ÷ 10 6
60 ÷ 10 3
100 ÷ 10 7
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DIVIDING A NUMBER BY ITSELF QUIZ

Match the expressions 
and the quotient.

The store had 5 candies. 
They put 5 in each bags. How 
many bags did they use?

Make the equations true.
6 ÷ 6 =____
____ = 9 ÷ 9
0 ÷ 1 = ____
2 ÷ 2 = ____

Model:

Answer:

Model with an array

Model with an equal group

8 ÷ 8

7 ÷ 7
9 ÷ 9 1
1 ÷ 1 1
3 ÷ 3 1
10 ÷ 10 1
4 ÷ 4 1

Gabrielle
Cross-Out
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DIVIDING BY HALF FACTS QUIZ

Match the expressions 
and the quotient.

The store had 16 cupcakes. 
They put 8 in each bags. How 
many bags did they use?

Make the equations true.

____ ÷ 1 =2
____ = 20 ÷ 10
0 ÷ 10 = ____
18 ÷ 9 = ____

Model:

Answer:

Model with an array

Model with an equal group

18 ÷ 9

14 ÷ 7
12 ÷ __ = 2 
20 ÷ __ = 2
8 ÷ __ = 2
6 ÷ __ = 2
10 ÷ __ = 2




